2130 Ford Explorer 2011-Present

Installation Instructions

4 j .
.~ ) 60 Minutes

MOTE : Before starting this installation make sure all the hardware isincluded and this part
number matches your vehide

\REV 3 850-AB-NS J




FORD EXPLORER 2011- PRESENT

6

DIN 6923;M10

_ |HTC 230
y M10x30

HTC 269;M10

HTC 232
=M 10x30

M10X30(5X15X60)

LN\

M6 = 8 Ft.Lb
M8 =18 Ft.lLb
M10 =35 ft.

ATTENTION PLEASE | DO NOT TIGHTEN ALL OF THE SCREWS UNTIL ALL OF THE PARTS ARE INSTALLED

Use a non abrasive type automotive wax. Any use of abrasive soaps, polishes or waxes can be detrimental to the finish

Keep your Romik accesories clean. To prevent corrosion and to mantain your high quality finish, wax or polish regulary with quality stainless polish.




\

1) Locate front mounting point and shown below
image #1 and remove factory bolt. (this is reused)

2) Locate second mounting point and insert HTC 232
3) Proceed to install front bracket with supplied
hardware.

4) Do not tighten anything yet, brackets must be lose
in order to install running boards.

M6 = 8 Ft.lb
M8 =18 Ft.Lb&®
M10 =35 ft.Ll

-~

» w

> ]|

g :
g =l it

the vehiclegha

1) Locate rear mounting area as shown below.

2) Proceed to install supplied inserts HTC 232 and HTC 230
3) Proceed to install rear brackets

4) Do not tighten anything yet

= ; . 5) Install running boards, hand tighten hardware.

M6 = 8 Ft.Lb
M8 = 18 Ft.Lb @
M10 =35 ft.L

1) After installing both front and rear brackets lose and running boards hand tighten proceed to torque hardware

2) Torque hardware M10 to 35 Ft.Lb
3) Proceed to torque running boards hardware M8 to 18 Ft.Lb

WARNING: Use of powertools will void warranty




HTC 232 ® HTC 232 ®
M10X30(5X15X60) M1DX30(5X15)(60)
HTC 232 HTC 232
HTC 269 HTC 269
e —— e,
f 1 vy o
DIN 6923 Ao \ Ili'|51 DIN 6923
1/, [|! A .
i | y | I 'I i I .
The boltison | (. | LY l” The bolt is on the
the vehicle chassis. I | | III I:' Ly | 'l vehicle chassis.
Il : iI
| rl. I ! B || |-| .
» ~ ‘.J‘._-!. "‘\‘ | -

g o v & v g g o o g @2
g L o L o v o v g g g

N}
Y
N
L]
L
N
q
[\
L
4
L]
N
L

R
9
R
L]
Y
9
]
D]
4
]
|
|
9

G‘Q’.‘_}_\ HTC 232 ®

M10X30(5X15X60) HTC 230 HTC 230 M10X30(5X 15X60)
HTC 232 HTC 232
HTC 269 H. 265
HTC 269 H1c 269
8 Ib-ft
DIN 6923 M,
&
DIN 6923 _ DIN6923 pjNeo23
15 Ib-ft
M8:
18.5 Ib-ft
M10 g

On our website you'll find a wide variety of high-quality Running Boards & Step Bars from Romik.



https://www.carid.com/running-boards.html
https://www.carid.com/romik/

	Ford Explorer 11+ RAL RB2 RZR_Page_1
	Ford Explorer 11+ RAL RB2 RZR_Page_2
	Ford Explorer 11+ RAL RB2 RZR_Page_3
	Ford Explorer 11+ RAL RB2 RZR_Page_4

